Problem G - IE S TS E
RF RS PR &l: 2000 ms

B H R :

FEAEEFYELENBEESR , REREASLANHERFPMENER , SEBEBRELFEN ,
B (x1,y1,x2,y2) , RRLKESFFEATHESHAMERESTRK :

{(x,y) | x1=x=x2 and y1sysy2 }.
FA—RHBEAER  XERERR (0,0) #F , FEUAFESYEENE. 57 ENRTREEE
FEEE—HENRE , LEERERTD , FEHRIESORHE , FTRFAPMEELITEER.

BARHA :
MANE—TRE—ELEHT, RRETEAIFRER.

BEAFEMNE—TR—BEERBAN, RIENBELSFKEEEFEL , BTRENIT , BHERER
x1,y1,x2y2 REREEELFFER  ERMEREEEE—MEZH,

B [<T<9
B [ <N<100000.
B 0<x1,x2<30000,-30000 <yl,y2 <30000

WA -
HNEB—FAFRER BEsLEEZORHFE F—=%2wmiH5—1T.
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